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PART - |
GENERAL KNOWLEDGE
& TEACHING APTITUDE
. “Grand slam” term is linked to which sport?

1. Table Tennis 2. Vollyball

3. Basket ball 4. Tennis
“UrroBPS” od HKo O §EH YowohodSe?
1. SenS BYS 2. >ders

3. erSerd 4. 8Y®

. Pandit Bheemsen Joshi is known as a
famous
1. vocalist 2. flutist
3. sarod player 4. sitar player
5085 HHDHIEE 28 ol ...
1L 805 2. .5p8%  3.38°%€ 4. @6
. Managing Director of International Monetary
Fundis
1. Jim Yong Kim 2. Christine Lagarde
3. Yukiyo Amano 4. Salil shetty
(©08 ©oSTAD (BNG, HIBOR FVEE IHB?
1. 85 choh &5 2 L_‘émSeJmé
3. Gindcie oSt 505 38
. Inthe 87th Oscars, Best Foreign Ianguage
filmis___
1.1da 2. Birdman 3. Still Alice 4. Whiplash
875 wmb eomrhod® e I8 grar dFo
1. awe 2. 838253“’55 3. (oef 8d% 4.25e%5R
. Which country hosted the 18th SAARC
summit from 26 to 27 November 20197?
1. Pakistan 2.India 3. Nepal 4.Bhutan
185 8, 55778 wdEWAK BI0?
1. P8PS 2. mo805r 8. IFS 4. aerS
. The Government has started national
literacy mission in our country to provide
education to the citizens in the age group of
S8 BEos® (b0 (@EododS “ep&ah TS
DHRS” Do @ Hoy) Ko 08 Vg @obolTels

e@%oaesa.
1.151t0 35 2.6to 14
3.141018 4. 35 and above 35

. One of the following acts as a primary
barrier on the part of the teacher in dealing
with a primary class

1. poor english speaking ability

2. low self - confidence

3. lack of experience

4. lack of depth in subject knowledge

Bod S° (FEE SEHBEE HHir0HeH
GaPEanRs (PEE @80

1. @oﬁ&)ﬁé@s zéﬁé.;};&s ﬁ‘n‘ﬁ)ggo EESre Goteo
2. BEH w700

3. s SHo

4. DHKHoS DENS @6@260 SEMWS&o

. According to the ¢ nght to Education Act

2009” which of the following is correct

1. child should not required to pass the board
examinations before the completion of
elementary education

2. child shall be admitted to the appropriate
age class

3. No child shall be denied admission for
lack of birth and transfer certificate

4. All the above

Bod RS> Dy o8y S&o - 2009 [FHseBo ¥

1 Dol Dy Hr8 Iaowd Hwoth i &G
$8geEd PR 85080 S

2. DEIPE8 & SCHIH BAS BEHBSE (HIFo B0

Doarts aSdEo, 20D HFo B8 Fswes®

(DI EE0E ToEBOSERESD.

&

4. 3

. One of the following qualities is not expected of a

good teacher

1. communicating freely with students

2. sharing warmth, enthusiasm and caring

3. acquiring knowledge about the student
as background

4. using the usual method of instruction for all
students

Bod TV 000 SFTYINES SOEERED ©FEo

1. &mvééao@s [T Seeoes

2. DTS PGB, GEESE” ot O eriE™
5080

3. DY epdEmtn Ve s

4. Jogieottd Fote &5 DAY eBEEAODE

10. Through which article, compulsory free

education was introduced?

Toergoos® O eSS (HSPBo FBYBE IS B0l
QS (SBEDep.

1.65 2. 48 3. 45 4. 63




PART - 11 (A)
GENERAL ENGLISH

11. President Lincoln abolished _ system

of slavery in the United States of America.

1.a 2.an 3.the 4. no article
12.Rita did not write as well as Latha

(The comparitive degree is)

1. Latha is better then Rita

2. Latha wrote better than Rita

3. Latha wrote more better than Rita

4. Latha writes better than Rita
13. “Are you coming home with me?” he asked.

(choose the correct reported form)

1. He enquired whether they was going home
with him
He enquired whether they are going home
with him
He enquired whether they were going home
with him
He enquired whether they is going home
with him
14. Unless he is punished,

(Identify the main clause)

1. He would not changed his ways

2. He would not change his ways

3. He will not changed his ways

4. He will not change his ways
15. | shall have writtern a novel

(Change into passive form)

1. Anovel will have been written by me

2. Anovel shall have been written by me

3. Anovel should have been written by me

4. Anovel would have been written by me
16. Don’t worry about it. It's no use.

(Choose the right answer)

1. I's no use worried about it

2. It's no use worrying about it

3. It's no use worry it

4. It's no use worry for it

2.

3.

4.

17. My father bought a new bike me.
1.to 2. for 3. at 4. over
18. Don’t get off the train, till it (stop)

(Identify the correct “Verb form”)
1. Stopped 2. Stop 3. Stops 4. is stopped

19. How long have you here?
(Choose the right option)
1. are waiting 2. been waiting

3. are waited 4. have waited
20. You know well enough what I mean.

(Identify the right part of speech)

1. Prepostion 2.verb

3. Adverb 4. Conjunction

PART - 11 (B)
GENERAL TELUGU

21.85)0% $05FerdEed) s S8 wolGBEbomrw
1. e8eagddto 38 ©aX00
2. ©8eagd8i0 45 @30
3. @8eagddio 258 ©@3o
4. ©@Beagddi0 5 @30
22. 8BS (HBAHS® TIB KNS (FeedgS Sed.
1. QY 2. 88 3. ©0gr8 4. 26%5326
23. JBE0S° 5eBH)0o0tH TeE BSond DHBH?
1. o8 J08BEBoeD 2. Frorfoer eé JB805m0

3. %@°C§ m@a&&a@go 4. QTR 3)%50
24. S0 ©3 HBo D Hod

1. (ozég ffsg)(oo@ 2. 6508 J0H

3. e JoH 4. S5ess Hod

25. LoHdD ‘(D8P HoTPEE” SEE I8y
ofe SESY” oI HhHen S0
1. $°88 2. 88% 3. Koiks 4. B°8S
26. “Bo0orre” HBED &S .
1. 856 Esmortgen 2. zééggséo @GR
3. .TPoeces 8(2 4, 3;26:6065 8
27. 08 S (HHed PL0eHd JoBe $EPoSFTHS
00200H0RVIB.
1. SPEACH HBED $E0DBTE
2. oD @B 8 “6 SR Intel
3. 17 2,7%165 @:66§on° zﬁﬁéycﬁﬁe& 4, 03265&
28. “Gogesd” od o B8 08 (S8roLaBI6
1. gP88BF0SED e8eag Y SR
2. 85068 &% :;b@éooe;sO &506
3. gPKHE0SY é%&aé&otﬁoé’sﬁ)&
4. TBroHe0s™ cngseors’Ae

29. “Sr 253&” ©3 HBo & (oo&s‘?
1. 09)03‘53% STl 2. (Freed Do
3. &l Hod 4. 6308 H0H

30. (808 T&° K628
1. B - woBed e 2. Gl - B omgen
3. &Y - ol Joogen 4. uIR - BKE Huege
31. Koot HBY) Headdnen 263& 5600 2
1. 8 2.8 3. 4. 8
32. “88%% (oéé” 0% HBOo & HETH Hso
1. 6550655 Jed0
2. D3Hes IR éé&movo‘ﬁa ¥ H0
3. D3Hee BEHHS BGEeoead D00
4. GHIPS GEPANDE BGETTraD H5rH0
33. 2&) + amea0d® $BD $0§ o850
1. & + an = 2o 2. 20 + a2» = e
3.5 + aw = a20® 4. 5 + 2w = &
34. @oé@;@v@ 0 HAY woerd
1. 835685 o 2. Hesie oo
3. Do ol . BIGY oo
35. ép)oﬁé &500R Dpen @wo)lc‘é)v EHDE BeoHEe
GO, &8 méﬁgo@s ASAS 0365065 &) Bad 26
Lsggo 2. FoegEo 3. FEL8o 4. $Gswedo




36. “oB e FHhoDHBol” & S50 IO
1. @B o550 2. HEGE a0

3. HogR Eo . 8o g0
37. B%B-I5Bod" KO0
1. @580 - ARdo 2. -E5

|3 shtodn-5Es 4. Foeaiddn-riSidn
38. “eahd Srb OIS isd Iy & s
fo woobo 67
1. Do (@raroosedo 2. erod ©0TE0
3. GrdrocTto 4, ertEd|aioosbo
39. |38 Adbiio 81 B0 2B7?
1. So% Sre B0 2. BLAS
3. Bod sitio 4. a&e Sre B
|40.1808 T*RE" KON eTo HBoNol.
1. 50b8So = hosro 2. mpdolio=Rebh A
3. &€ = DD 4, elis0 = BPCHO
PART - Il (A)
MATHEMATICS

12
41. The rational number 5 lies between

12 :
| S ettdah Hopg A Sty aothi.

5
1. 2and 3 2. J3 and 5
3. J5 and J7 4. f7 and 11

42. Given that /2 =1.414, ,/5=2236then the

1
value of Jﬁ up to 4 decimal placesis __

2 1
J2=1414 5 =2.236 wond 5 Trentd tiwod
SO BED
1.03162 2.00316 3.1.0792 4.0.1079

11 mloiki; s
dS._lfA.B-3-4andE!.G—G.E,thenﬁ.B.G

-

12720

: 4.9:12:10

144 A student got 75 % of marks in Mathematics. He
got 80% of Mathematics marks in English. Ifthe
examinations kept 50 marks each, his marks in
Englishare____

X,, ©odSne Hin 20 wopsiath X, + 4,
X+ 8 %, +12, ... X, + 40 o it

1. 34 2. 42 3. 38 4. 40

46. A circle of radius 3 cm is incribed inan
equilateral triangle. Then the area of the triangle
incm?is ____

Hifoersro (Behaod® 3 Ro.p. SygrgEnre Ko
$)isn woBddotalds, Bibuivogin KU
ol oo

1L 273 2.9 3. 93 4.81

If the radius of a cylinder is doubled keeping its
lateral surface area the same, then its height is_

47,

1
1.halved 2 doubled 3. 1Etimes 4. 3times

o Dnf) @HKe Jeoghin SHrEnF
GohEr arrdnd Do DD T 9&...
1. Sro erHdD 2. Do wrbi
3. 17 Dép o 4, 30 oD
48 The?ateral surface area of a cube is 576 cm’
then the total surface areais _____
DB (%o Perego 5T0 £.20.30. Gond
RHoiride STrage...
1. 1728 cm? 2. B64 cm’
3. 745 cm* 4. 648 cm?®
49. Set builderformofanullsetis ____
Eronss Band Doy GrE0 ...

1. {x/xe0} 2. {x/x=0}
3. {x/x=0} 4 {x/x#x}

50. Zeroes of the polynomial cx*+bx+aare__
o*+bx+a O 2FN0 EPTFREDY ... .

’ —_b:._*-'__'_\sz —dac 5 ~b+ b’ —4ac
2a B

3 -b+~¢" —4ab oy ¢’ - 4ab
2a 2c

2
Log §=ch —aon:d Logx, Logy, Logzen

BE® soth.

1.AP 2.GP 3. HP 4 APandHP
52 IfP(E)=0.75then P(E")=____

P(E) = 0.75 wows P(E")=

1. 569 2.0.25 3.1.75 4.05
&l Joht KBBod® T5% Sy, sofjod® I
rddod® obs HS° 80% Srine ohodd. (53 IfSinA=CosBand O<A B < 2 then Cos
Bots $bZen DA 50 Srte ErodN (A+B)=
| sofsnd® Sroas Sriyen.. — I
| 1.30 2.40 3.50 4. 60 SinA=Cos B&8cfn O<A B < wond
45. If the mean of a set of observations x,, X,..... X, | Cos (A+B)= -
is 20, thenthe mean of x + 4,x,+ 8, x, + 12, 1 ¥3
----- X, *+40is 1 2. 5 3. = 4 0

|
i

4
51. IfLog 2 =Log ;then Logx Logy Logzarein |
x !




54.1n 2. 4/3. 41832 series S _=___
V2.8, 13,32 B¢t S =
155 2.28.2

| 3 Jig+64128 4. 918 +4/98
155 Slope of a perpendicular line to ax+by=cis ____
ax+by=c oocmcrF &t Ta® I ......

_a & b a
1. b 2. : 3 g 4. b
56. If F= [ thenx=___
x\’ﬁ_f:w-‘:; SoNH X=
1.9 ¥ S 33 4 4
{57. Tan1'Tan2'Tan3"Tand".............. Tan89%= ___
1.0 a1 3.2 4 4

58 In atriangle ABC, an incircle is touching the
sides AB, BC,ACatD, E, F. IfBD=5cm,
CE=6cm and AF=7cm, then the perimeter of
thetriangleis
ABC |9gh=0é” hohalis wosspEsn AB, BC,
AC o% D, E F o &g eeHdgd. BD=3 0.8,
CE=6 20.5» $5o8d5n AF=70. 2 @ond  [Bgbe
v:.’:;::é:a:lu‘é“@aé
1. 13cm 2. 18cm 3. 36cm 4. 42cm

1/58. The circumference of a circumcircle of a

triange whose sides are 3cm, 4cm, Scm

respectivelyis ____incm,

3 ®o.ab, 4 Do.8k, b Mo.ab gheFenre o

BeoerRE hohals 08 BB To..odf...

1. 511 2. % 371+S 4. T1I-5
60. If each of the zeros of a quadratic polynomial

| are one, which is the additive inverse of the

other, then the number oftermsinitis ___

¥ 5 onad® dragen elorlETEs Hotes
DEFEFBN Bold SEEve Bogy....

1. 3 2. 2 3. 4 4.1
PART - lll (B)

PHYSICAL SCIENCES
61.The change of phase from liquid to gas that
occurs at the surface of a liquid is called ____
1. Melting 2. Freezing
3. Condensation 4 Evaporation
B¥ 535 4858800 58, |Hh0 ardinirT 28 Sy
noth |35
1. GRS 2. Sodgiasa
3. rolfssmo 4. gFiyEsdo
62. The property which is used to the presence of
charge presentonabodyis
1. Attraction 2. Repuision
3. Attraction or Repulsion 4. None of these

2 SR P KO SaTR) HBoSTRE eXEEHoT |

woe ‘
1. w880 6;3530 2. AEE s G
3. etdm e S 8w G0 4. B

63. A car travells the first half of the distance with a
speed of 50 km/hr and the remaining half of the
distance with a speed of 40 km/hr then its every
speed inkm/hris ____
a8 T o%0 Hcirdods Sndo Srdo® Insd
B0 drto 50 B.&. o, S&8%Sr, 0ADIS Mo
40 &8.5.f flo. $&8%5r BSrd7) @ wh So%e
S& B.&./ Ho.odh

1. 45 2.90 3.4444 410
64. Which one of the following is not an ionic

compound

1Bod RS edirRE Sordo TR,

1. Naf 2. Nacl - Mge 4. NH.

65. The number of moles in 22gm of carbondioxide |
22 |resine SRR He Irde dong
3

A=

1
1.1, 2.5 2.2 g

66. Which of the following is not correct.
1. The first four planets Mercury, Venus, Earth
and Mars are known as Inner planets.
2. The Sun rises in west side on the planet
venus
3. The planet saturn appears reddish in colour
4. The planet Mercury has least period of i
revolution =
1Bod Q& K0T
1. Dol TreniD [Hafen anghbtd, A5, grak
SHBcin WorrEH o woddiiPo sotrh
2. H|HH [P0 Srlytd ST &tonrts
3. S0 S Sorbe? EABTos
4. =iotd NP w8 S5 SHEEbnToo cotnod
67. The intensity of sound is measured in

1.pascal 2. decibel 3 hertz 4 calories |

G50 BESSS T00 |Pdrmo ,

1L QS 2.z03& 3. 3 4. B6%en |
68. A uniform wire of resistance 100 ()is melted

and recast into wire of length double that of the
original. The resistance of new wireis __

100 Qo 850 fo et 2568 85% B8R,
86 Solode S Ko Srire Srond. sond
Edre DS 815 060 ..
1.50q 2200 30Q 4 1000

69. Which of the following is the most active metal |

1. Lithium 2. Sodium 3. Potassium 4. Rubidium |
Bod R whs Sogded Ko ¢80
1. DHcho 2. Mcho 3. drirhciho 4. DAL

70. Generally metallic oxides are converted into
metalsby

1. Roasting 2. Calcination
3. Oxidation 4. Reduction
Fortmorr e eBBor Fenrr.... Sob
S,

1. gfgssm 2. ¢fysdem 3. efyitm 4. Kdhtdmo




PART -1IT(C)
BIOLOGICAL SCIENCES

71.Which is cell wall in plants generally.

1. pectin 2. suborin 3. cellulose 4. khitin

IS’ Frerdes Bew BP0

L 285 2 b8 3 egd’E 4. BES
72. Which is not suitable sentence among the

smallest organisms?

1. Inorganisms at outside of host

2. Ucaryotic organisms

3. Procaryotic irganisms

4. Pathogenic organisms

o8 O3 dheore et éﬁ@é@@é Bo&D

aEs0.

1. ©5Fon Seode AJHeo 2. KNsBErEE EHeo

3. *sodrdE dHen 4. TESEE dHen
73. Identify which sense organ is maintain body

equalibrium.

1. ear 2.eye 3. skin 4.tongue
SrSHVS® 08 $eREJ EOAOT epdolBao
1. 3D 2. 88y 3. IKo 4. Jrend

74. The meaning of ESRD is...
1. Not working of kidney
2. Not working of lungs
3. Not working of brain
4. Not working of liver
ESRD e&me...
1. Sor(@omeen HIBCHEIESE0
2. &8208%en HITCHELESS0
3. 0B HIBCHESESE0
4. B0H0 HABCHERSE0
75.Malfigian Tubules as Excretory organs in this
animal
1. snail 2. cockroach 3. sea star 4. earthwarm
26?3)9)&0‘535 ToPEen DILE eschdore Ko &
1. 3& 2. &°Qo8 3. Jm(Bg|Eo 4. EVS V)
76. The life spawn of Red Blood cells is

1.125 2.120 3.110 4.13
JBEEEere EQE oo St

1. 125 8Peawen 2. 120 &eren
3. 110 &%eren 4. 13 Beren

77.The alkoloid used as protector from snakebite

1. Pirithroid 2. Scopolamin
3. Riserpin 4. Caffein
P0Eeen 0D BFedd Tt weperand
1. 2B(@rons 2. PFoPS
3. B8 4.838
78. The weight of brain in the total weight of body
1.2% 2.3% 3.5% 4.10%
$880 Sw&o 2HHS &L ED).
1. 2 % 2. 3 % 3. 5% 4. 1 %

79. The gestation period of horse

1.280 2.200-220 3.330 4.149

HBos® Komseseeo Berd®

1. 280 2. 200-220 3. 330 4. 149
80. The starting year of tiger project

B8 (@rE§ (@PSooledS Do

1. 1973 2. 1972 3.1952 4.1974

PART - Il (D)
SOCIAL STUDIES

81. Jagatseths of were one of the early

bankers in India.

1. Gujarth 2. Bihar 3. U.P. 4. Bengal
& (ozed8 Bohd wiE B FESRIE® &9
a50886° 2,85

1 HhaoeE 2. A®E 3. e8Y8HEE 4. Bored
82.The ideal number of members in a SHGis ___
(8 0o [HFA®E epotio ot Jod Hod

Jegen GOt
1.10-15 2.15-20 3.20-25 4.25-30
83. Banks in India hold about % of their

deposits as cash.
3¥0S® &) argoen & B%erd® ey wawd
SK0en Do B0 SR S BHE oS obraw.
1.20% 2.10% 3.15% 4.25%
84. The service setor activity in the following
1. Fishing 2. Bricks making
3. Transport 4. Mining
& (808 AS° e Borrdd Bobd wodo HB?
1. zﬁaé&s 2. a¢nde 058 3. Baves 4. e
85. Which sector is growing fast in India
1. Service sector 2. Primary sector
3. Secondary sector 4. None of these
PESBI0S® Jkorr & BoKo @&Eé@% D006
1. éﬁaécﬁ) Do Boo 2. [PEE D Soro
3. &‘Sédﬁa e Sorfo 4. Vb=
86. Who started culctivisation programme in
Russia.
1. Lenin 2. Mark 3. Rasputin 4. Stalin
BapgS® HEHIAH SEYBELETOL BB (FPEooEedd
L85 2 50f) 3. 58S 4. S
87. Which was a special surveillance and security
force created by Hitler.
1. CBI 2. Gestapo 3. CDI 4. FBI
FET° HOBZRDH SebT DoTyen BAbES By
ﬁ’sg)ma@otﬁo N6B?
L 2.8 2 0Ayok &.

3. 2. 4.95.8. 2.




88. Ipartheid was followed in __
1.India 2. China 3. Mexico 4. South Africa
Bod Toamgod® O Toago w8 XES e
©d0odozPon.
1. moBar 2. BJ° 3. 2EE® 4. 8 o
89. Vienna congress was held in
DAsram sPo[fR Do O donet edhod

1. 1815 2. 1850 3. 1851 4. 1805
90.In March 1944, The Indian Flag was hoisted in

Kohima by

1. Bhagat Singh 2. Rajguru

3.INA 4. Sukhdev

g8 ep&chH Bowe 19448° 8581t (Bod 6
3 BB,

1. &858 2oh 2. TEHB
3. 0.08.9. 4. 2HRS
91.This article prohibits employment of children in
hazardous work
1. Article 17 2. Article 24
3. Article 29 4. Article 32
Teeg0if08t) & wpESE By EHBBS
S0t QABrA0EHE JnBoD0.
1. @géé 17 2. @géé 24
3. @gée‘? 29 4. @gée‘? 32
92. Who is the real administrator when emergency
is in force in a state?
1. President 2. Prime Minister
3. Governer 4. Chief Minister
m@o@‘s RIS 0“36?8@ VBB dﬁamg@"oé)ci)
L oo8 2. (Herdso@ 3. KIGE 4. Soggool®
93. The word “Secular State” was included in the
preamble by which amendment?
1. 44th 2. 45th 3. 40th 4.42nd
“G°8E FE0” ©F DR Toegol (HRBEEE D
$58e0 Tegoe oy,
1. 445 2. 458 3.40% 4. 425
94. This year the parliament passed the “Right of

children to free and compulsory education Act”

8 01" P00 G, DGO, (FPEE DL

ePe PE) oS 6&;3& Z0d.

1. 1999 2. 2000 3. 2009 4. 2010
95. Which house exercises more powers in money

matters.

1. Upper house

3. Permanent house

2. Lower house
4. Legislative council

) D8 (555 00T DHXHost DENS HET)
EOA Gotnod.
1. S 38 2. BB K
3. &S 3 4. el HORS
96. The standard meridian of India is ...
g8 (PSS Bgrodo DB?

1. 88°30'E 2. 38°30'E
3.82°30'E 4. 83°30'E
97. The highest peak in South Indiais
1. Chintapalli 2. Anaimudi

3. Dodabetta 4. Ooty

58ea PESBIoS ABS BPpBo AB?
1 D085 2. ePwd 3. FEBY 4 ewd
98. Human Development Report is prepared by
1. UNESCO 2. W.H.O.
3. UNDP 4. Govt of India
B oDl IOED Srdd Bod?
1. ¥goresgdind Qaeg QD Po)dE NS
2. (DD03S @55ﬁ§ éoé
3. ¥g0PesgdNS @é’)zéa@ SISV
4. gr88 (Hgh&0
99. Match the following (8o& JQ e38858508&

1. Vasantha ( ) a. November - December
S50 () . IH0265-&8o8

2. Grishma () b. September-October
@‘é)& () 3. ?0_2808)8—@%838

3. Varsha () c.July-August
S8, () . wrg-ersy

4. Sharad () d. March-April
et () & 8-S

5. Hemantha () e. January-February
500 () Q. 2358-@250

6. Shishira () f. May-dune
388 () o9 D-e2eS

1. DFCBAE 2. CBAFED

3. CBFDEA 4. DFACBE

100.Bhagirathi and Alakananda are join at

1. Allahabad 2. Devprayaga
3. Varanasi 4. Agra

SAEH 5805w wedSod O SPew

1. @od8ers 2. BHEsH
3. PBed 4. o
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